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SECTION - A
(Long Answer Questions)

Answer any two questions from this section : 	 2x20 =40
State the meaning of economic activity. Classify
economic activities. Discuss each one of this
activity.

Give a brief account of the evolution of national
income accounting in India.

Briefly explain the system of National Income
Accounts and their relationship with circular flow
of income. Explain that National Income
Accounts has a system of double entry.

Define social sector. List the various services
provided under this sector. Explain the
relationship among the concepts of human
development, social security and social sector.
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SECTION - B

(Medium Answer Questions)

Answer any three questions from this section : 	 3x10=30

Explain the concept of environmental accounting.
How do you measure environmentally corrected
GDP ?

How is government sector treated in the National

Income Accounting ? What are the issues
involved in it ?

What do you mean by value-added ? How will
you measure it ? What is the relationship between
value-addition and income-generation ?

Highlight the characteristics of consolidation of
accounts of a nation. How is this done in India ?

9.	 Define 'Investment'. Give a brief account of
estimates of investment in India.
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SECTION - C

(Short-Answer Questions)

Answer all questions from this section as directed :

10. Define any five of the following :

Standard of living

Unorganised Sector

Household Sector

Input-Output Accounts

Non-financial Flows

Consumer Durables

(g) Intermediate Goods

5x2=10

11. Distinguish between any two of the following :
2x5=10

Intermediate and Final Goods

Portfolio Investment and FDI

Gross Domestic Capital Formation and Net
Domestic Capital Formation

Receivables and Payables

12. State whether the following are true or false : 
5x2=10

(a) More production means more consumption
and more investment.
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Estimates of National Income and per capita
income give us an average income and are
indicators of standards of living of people.

The National Income Accounts series with
base 1980-81 has now been replaced by the
revised series with 1990-91 as base.

Green Index is developed by the World
Bank.

HDI is based on longevity of the people.
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